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Chapter 20

X20.1

X20.2

X20.3

X20.4

X20.5

X20.6

X20.7

Given that the endowments represent Liling’s and Maya’s total wealth, explain why the
expressions on the left-hand side of Expression 20.2 cannot both be positive.

Were both expressions positive, then there would be a move up and to the right in the
diagram. Liling would consume more carrots and more beans; and Maya would consume
less of both. So, assuming that preferences are well behaved, Liling would be better off and
Maya would be worse off, meaning that Maya would not agree to the new division.

Define the marginal rate of substitution for Liling and Maya at the endowment, E. Explain
how the difference in values means that trade is possible.

For both Liling and Maya, the marginal rates of substitution are the slopes of the tangents to
their indifference curves. We see that Maya’s indifference curve is steeper than Liling’s, so
that she is willing to give up more carrots than Liling to acquire a set quantity of additional
beans. Liling and Maya could agree to any exchange rate p: MRS, > -p > MRS.

In Figure 20.2, the endowment is at the lower-right corner of the lens. Under what
conditions would the endowment be at the upper-left corner of the lens? What would be
the outcome of trade in this case?

We now require Liling’s indifference curve to be steeper than Maya’s, so that MRS, > -p >
MRS,.

Use Expression 20.2 to obtain an expression for the relative price of broad beans (the rate
at which Maya gives up consumption of carrots in order to increase consumption of broad
beans).
The relative price will be the ratio of the increase in consumption of broad beans to the
T L

. . . . bL _bL
increase in consumption of carrots. We obtain p=——7—F.

¢ —G

Suppose that at the division, E, Liling and Maya were to have the same marginal rate of
substitution. Sketch an Edgeworth box showing this outcome. What do you conclude
about the possibility of exchange?

In the Edgeworth box, we begin by drawing a straight downward-sloping line that will be the
common tangent. We then draw two curves, both downward-sloping, with the one above
the line convex, and the one below the line concave. We draw these lines so that each has a
single point of tangency between each curve and the line; and so that the point of tangency
is common to both curves.

We note that there is no area defined by the intersection between the curves, and so there
are no divisions of the endowment where both Liling and Maya are better off than at the
point of tangency. This implies that there is no possibility of trade between Liling and Maya.

How likely do you consider it to be that Liling would accept the division of goods at F?
It is possible, but we note that Liling is no better off than at E, so that she has no strong
reason to agree to the new division.

Explain why division G is Pareto efficient, and discuss whether or not you consider it likely
that it will be the outcome of exchange.

G is Pareto efficient since the indifference curves through this division share a common
tangent. At this division, Maya is no better off than at the initial endowment, E, so it is
unlikely that she would agree to the division.
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The contract curve is sometimes defined as the portion of the Pareto set between F and G.
Why might this be a useful definition? [Hint: Consider peoples’ willingness to agree to any
division of the endowment.]

Between F and G, both Liling and Maya are better off than at the endowment E. Since all
points on the contract curve share a common tangent, there is no possibility of further Pareto
improvements. It is therefore possible that Liling and Maya might agree to any of these
divisions, with neither being able to propose an alternative division in which both would be
better off.

Suppose that Maya and Liling consider broad beans and carrots to be perfect
complements, with their preferences represented by the utility function, U: U(b,, c;) =
min(b;, ¢;). The total quantities of broad beans and carrots in their total endowment are
equal.

Explain why, in any division in which b, = ¢,, their indifference curves just touch.

We know that with both Liling and Maya treating the goods as perfect complements, their
preferences across divisions can be expressed by a set of L-shaped indifference curves. For
Liling, the vertices are on the line b, = ¢,. On this line, by, = b — b, = c— ¢, = ¢, so that the
vertices of Maya’s indifference curves also lie on this line. At every point on the line, b, = c,,
any downward-sloping line is a common tangent to the indifference curves that meet at this
point.

Suppose instead that Liling grows carrots and Maya grows broad beans. Using a diagram,
show that if Maya can determine the division of the endowment, she can take all of Liling’s
carrots and offer no broad beans in return.

With Maya growing broad beans, but taking all of Liling’s carrots, Liling is no worse off than
at the initial division, so that the Pareto efficiency condition is met by trade.

Again, using the diagram, show that it is possible for Maya and Liling to trade to any
division for which ¢, = b,.

From parts a) and b), we see that the Pareto set is represented in the Edgeworth box by the
line, 0,0,, running from the bottom left to the top right corners (that is from the origin of
Liling’s measurement to the origin of Maya’s measurement); and all divisions in the Pareto
set are feasible in the sense that neither Liling nor Maya would be worse off after trade than
before. The whole of the line is the contract curve.

Now suppose that Maya and Liling consider carrots and broad beans to be perfect
substitutes. However, while Maya would substitute 1 kg of broad beans for 1 kg of carrots,
Liling would swap 2 kg of broad bean for 1 kg of carrots.

Draw an Edgeworth box showing indifference curves, given that they wish to divide 12 kg
of carrots and 20 kg of broad beans, and that Maya starts with all of the carrots, and Liling
with all of the broad beans. On your diagram, indicate the region within which they might
trade.

We draw the Edgeworth box, measuring the endowment of broad beans on the horizontal
axis and the endowment of carrots on the vertical axis, so that the dimensions of the box are
20x12. We denote the bottom-left hand corner as O,, from which Liling’s consumption is
measured; and the top-right corner as Oy, from which Maya’s consumption is measured.
Then the initial endowment, E, is located at the bottom-right corner of the box. For Liling, the
indifference curve through point E has the equation b, + 2c, = 20, while for Maya, it has
equation by, + ¢y, = 12.
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Liling’s indifference curve is a line meeting the left-hand edge of the box, (0, 10), while
Maya’s is a line meeting the top edge of the box at (8, 12). We see that Maya’s indifference
curve is steeper than Liling’s, so that the feasible set for trade is the area between them.

Assume instead that their initial endowments are (b/%, ¢,%) = (12, 6) and (by/, cu’) = (8, 6).
Draw another Edgeworth box, and mark on it this endowment, E. Sketch the indifference
curves through the endowment, and indicate the region within which trade might occur.
In this case, the initial endowment, E, is located at the point (b, ¢.f)=(12, 6). For Liling, the
indifference curve through point E has the equation b, + 2¢, = 24, while for Maya, it has
equation by, + ¢y, = 14.

Liling’s indifference curve is a line meeting the top of the box at (0, 12), while Maya’s is a line
meeting the top edge of the box at (6, 12). As before, Maya’s indifference curve is steeper
than Liling’s, so that the feasible set for trade is the area between them.

What is the range of terms of trade which Maya and Liling might agree?

The terms of trade will be such that both Maya and Liling are better off after trade. We
define the relative price, p, as the opportunity cost of beans, defined so that MRSy, > p > -
MRS,; or so that -0.5 > p > - 1.

Under what conditions might Liling end up with all of the carrots?
This will happen if the exchange line is steep enough so that it passes through the top edge of
the box.

Suppose that Maya and Liling have preferences represented by the utility function,

U: U(b,,c;)=bc . The initial endowment, E: (b5, ¢,f) = (90, 0) and (by, cu) = (30, 120).
Assume that they agree to trade 1 kg of carrots for 2 kg of broad beans.

What is the opportunity cost of 1 kg of broad beans?

The opportunity cost, p =—0.5.

Write down expressions for their marginal utility functions and their (common) marginal
rate of substitution, MRS.

We obtain marginal utilities by partially differentiating U with respect to the quantity of each
of the goods in the consumption bundle.

ou _1(%

2
So marginal utility of beans, MUg = 2,-=73 (;)? , and marginal utility of carrots, MU =

a_u_z(ﬁ)é
ac; — 3 \¢
The marginal rate of substitution is (minus 1 times) the ratio of marginal utilities; MRS; =

2
1o f
MU, 3\,) G

MU;

dmf 2

Show that MRS = -0.5 whenever b = c. What do you conclude about the composition of
the most preferred, affordable consumption bundle?

If MRS; = -0.5, then ——=1, so ¢; = b. We note that when b; = ¢, Liling and Maya have the

26, 27
same marginal rate of substitution; and note that for the total endowment (b, c) = (120, 120),
then if b, = ¢, by, =120 — b, = 120 — ¢, = c,,;, so that the conditions for Pareto efficiency are
satisfied when b, = c;; and the Pareto set consists of all allocations (b, c,): b, = c,.
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Confirm that the division H: (b,”, ¢,") = (30, 30) and (b,,", ci") = (90, 90) is feasible, given
the terms of trade; and that Liling’s and Maya’s indifference curves through H both have
gradient p=-0.5.

To reach division H from the initial endowment, E, Liling gives up 60kg of beans, and acquires
30kg of carrots; Maya acquires 60kg of beans in exchange for 30kg of carrots. At division H,
the conditions for Pareto efficiency are satisfied, with beans being exchanged for carrots at
the agreed relative price.

Sketch an Edgeworth box showing the endowment point; the terms of trade line; the
indifference curves passing through the endowment point, E; and the indifference curves
passing through the final division, H.

In an Edgeworth box with dimensions 120x120, we measure the division of beans on the
horizontal axis, and division of carrots on the vertical, measuring the quantity available to
Liling of each from the bottom left corner. The initial endowment E: (90, 0) therefore lies on
the bottom edge of the box, three-quarters of the way from the left side to the right side of
the box. The terms of trade line starts from point E, and has slope -0.5, so that it passes
through point H(30, 30). At this final division, the indifference curves for Liling and Maya
(which are downward sloping and convex to their respective origins, approaching but never
touching the axes against which they are measured) both have gradient -0.5, so that the
terms of trade line forms a common tangent.

In Figure 20.6, we suggest that Lukas and Michael will divide the endowment equally.
Confirm (from Expression 20.10) that Michael’s preferred bundle is half of the endowment

if the relative price, ,0=% .

We know that Michael’s optimal bundle (b,,* c,, *)=(ﬁ,§). So with the relative price p= 1,

the result follows. (bM*/ Cu *):(%'%)

Demonstrate that when the relative price, p=% , Lukas’s most preferred affordable
bundle, (6%,c*)=(2,%).
If the relative price p = %, then for Lukas, MRS, = i = % Then cyb = byc; and for the

b,
(b-b,)

_bM _Cc ., ey
=7 C=73, and it is easy to

feasibility constraint to be satisfied, %bL +c, =c Thenc, =

confirm that b, = %

Explain why we can write Lukas’s problem as having two constraints:

> (b, c)* .= ¢ (b-b)and [(b-b)(c—c)]" = %(bc)% . Form the Lagrangean, 6,

required to solve the problem.

Lukas’s problem has the two constraints of affordability and feasibility. It has to be possible
for Lukas and Michael to trade to the equilibrium. Michael has to be willing to accept the
outcome of the trade, and so must be no worse off than at his optimum.

We write the Lagrangean, @=(b,c, * + Albc—bc, —cb, )+ ,ug (bc)*® ~[(b—b, Nc—c, )]05}

By obtaining the first-order conditions, confirm that C; *=% .
The first-order conditions for an optimum can be written as

20205 —ac+0.54 {b‘_—b)j]ﬂs 0.
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20055 —ab+0.5u|E=2) ] -
00 _ —
<> =bc—bc, —cb =0.

aa_;@,:%(bc)oj ~[(b—b, Xc—c, ) =0.

We see from the last two expressions that (b — b,)c = bc,, so we can repeat the argument.
Since

c—c. = £bL , We can rewrite the last condition as 4(b—bL)(%bL)=bC, so that 4(b — b,)b, = b’.

This simplifies to (b —2b,)* = 0, so that b, = % The result then follows by substitution.

Assume that Rachel’s maximization problem can be written as:

T Ulbr,c0)=by" e, plby” by (e —cq)=0

By forming the Lagrangean or otherwise, confirm that Rachel’s most preferred, affordable

la

bundle (bg*, cr*) has the characteristic: b F =P

We write the Lagrangean, A: A = bg%cg’ ™ “ + /1[p(bR —bg) + (cit = cr)]
We obtain first-order conditions for the maximum:

E
2—ale ) —ap=0; ZA=(1-a)e) -21=0; and 2= plbef by Jrcf ~cy =0
Taking the first two, we see that %(Z_R)I = ,1:(1_05)(‘6’_'*)“. The result follows immediately

from cross-multiplying terms.

Hence or otherwise, demonstrate that Rachel’s most preferred affordable bundle is
(bR *, Cr *):

(be* cp *)= (a(bRE +%), (- a)(prE +cq ))
We write ¢, =1?Tapr , and since p(bRE —bg) + (cit — cg) = 0, we can write

(1 +177a) R :gbR =pb." +c." ; and the result follows immediately.

Show that as the relative price, p, increases, ci increases, but b, decreases.
By partial differentiation, we see that ‘;"; = "‘”’;E <0, but that aa%:(l—a)bRE >0
P

Write an expression for cz* in terms of bg*. (This is the equation of Rachel’s price offer

curve.)

We see that it is possible to extract a common factor, pbg" + cs from the expressions for bg*
(1-a)p

* — -~ bR *

and cg*. This gives us cg
Assume that Rachel continues to solve the problem in X20.13, but with the expenditure
share parameter, G=% , and initial endowments (b, ¢i’) = (bs, ¢s°) = (12, 12).

Obtain an expression for Rachel’s optimal consumption bundle in terms of the relative
price, p.

We apply the expressions obtained from X20.13: (by* c, *)= ( ( i % )’ (1— a)(prs tef ))

then (by% ¢, *)=(t(12+22) 2(12p+12))=(al1+ 1) 8(1+ ).
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Show that if p > 0.5, Rachel will want to trade some of her broad beans for more carrots.
If p=2%, itis easy to confirm that (bg*, cz*) = (12, 12) = (b5, ci), so that Rachel can do no
better than by consuming her endowment. Given that bg* is decreasing in p, and that cg* is
increasing in p, it follows that if p > 0.5, then Rachel will give away some beans, and demand
more carrots.

Evaluate the expression in (a) for Rachel’s optimal consumption bundle for relative prices
p=0.125,0.25, 0.5, 1, 2, and 4. Are all of these choices feasible?

P 0.125 | 0.25 0.5 1 2 4
bg* 36 20 12 8 6 5
cr* 9 10 12 16 24 40

We see that when the relative price, p = 2, cg* = 24, so that Rachel wishes to consume all of
the carrots. With cgz* increasing in p, this is the maximum possible value of the relative
price; for higher prices, the price offer curve will lie outside the box.

Although it is not shown in the table, we note that when p = 0.2, bg* = 24. In this case,
Rachel wishes to consume all of the beans in the endowment and, as before, with bz*
decreasing in p, this is the minimum possible value of the relative price; for lower prices, the
price offer curve will lie outside the box.

Sketch Rachel’s price offer curve.

Plotting these points in an Edgeworth box with dimensions 24x24, we see that Rachel’s price
offer curve is downward sloping and convex to Og. It intersects the top edge of the box at
the division (b, cg) = (6, 24), where MRS = -2, passes through the division (12, 12), and
intersects the right edge of the box at the division (24, 6), where MRS = -0.2.

2 1
Repeat X20.14 but for Sonja, whose utility function we write as U(bs,c5)=b53c53 .
We are able to write Sonja’s preferred division, given the relative price p as (bs*, ¢s*):
(bs* cs *)= ((1—0;)(be +%), a(prE g )), which with the given parameterization becomes
_|2 12) 1 __ 1
(bs* ¢ *)=(212+2) 1 (12p+12))=(8la+1) 4(1+ p)).
Replicating the table of preferred consumption bundles from X20.14:

P 0.125 | 0.25 0.5 1 2 4
bs* 72 40 24 16 12 10
cs* 4.5 5 6 8 12 20

We note that it would not be feasible for the value of p to be very small: from the table, and
knowing that Sonja’s demand for beans in her preferred division, bs* is decreasing in the
relative price, p, we require bs* >0.5. Although we have not shown this in the table, it is
straightforward to show that if p > 5, then cs* > 24, so that Sonja would then demand more
than the total endowment of carrots.

Given the endowments and utility function in X20.14 and X20.15, confirm that at the
division J: (bs, c&’) = (8, 16); (b, c.) = (16, 8) with relative price p = 1, Rachel and Sonja
maximize their utilities and both markets clear.

We see that by adding up the demands that both markets clear, the demand for both beans
and carrots equals the total endowment.

Suppose that the relative price increases, so that p= 2. Find Rachel’s and Sonja’s most
preferred, feasible consumption bundles. Explain why these are not consistent with an
equilibrium division.
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When p =2, (br*, cr*) = (6, 24); and (bs*, ¢s*) = (12, 12). The total demand for carrots is 36,
so that there is excess demand for them; and the total demand for beans is 18, so that there
is excess supply.

Repeat X20.17, but with the relative price decreasing so that p = 0.5. Without carrying out
any further calculations, characterize the nature of the outcome for p=0.5.

We have seen that when the relative price is above the market clearing price, there is excess
demand for carrots, and excess supply of beans. We therefore expect that for a relative price
less than the market clearing price, there will be excess supply of carrots and excess demand
for beans.

[Check: When p=0.5, (bg*, cr*) = (12, 12); and (bs*, ¢s*) = (24, 6). The total demand for
carrots is 18, so that there is excess supply of them; and the total demand for beans is 36, so
that there is excess demand.]

Continuing to use the endowments and utility functions in X20.14 and X20.15, suppose
that Rachel initially proposes p = 2.

Confirm that Sonja will not wish to trade, but that Rachel would wish to acquire Sonja’s
endowment of carrots.

This follows directly from calculations that we have completed already. Sonja demands her
initial endowment, while Rachel demands the bundle (bg, cz) = (6, 24), which includes the
total endowment of carrots.

Calculate the excess demand for carrots and the excess supply of broad beans.
Again, from previous calculations, we see that there is an excess demand for carrots, cg + Cs -
24 = 12 and excess supply of beans, 24 — (bg + bs) = 6.

Repeat parts (a) and (b), assuming firstly that Sonja proposes a revised relative price, p =
1.5, and then that Rachel proposes a further revision, p = 1.25.

We present the results in a table, in which the first four columns show Rachel and Sonja’s
demands for beans and carrots, and the next two show the excess demand for beans and
carrots.

P bR* bs* CR* Cs* b)( Cx pbx‘f‘ Cx

2 12 | 24 | 12 -6 12 0
15 | & £ 20 | 10 4 6 0
1.25 | 72 | 144 | 18 9 | 24| 3 0

1 8 16 | 16 8 0 0 0

We note that as the relative price falls towards the market clearing price, there is a reduction
in the excess supply of beans and the excess demand for carrots.

To prove some important results in general equilibrium theory, it is often convenient to
rely upon Walras’ Law: that the sum of values of excess demand across markets must be
equal to zero.

Confirm that Walras’ Law is satisfied in X20.19, so that at each relative price, the value of
the excess demand for carrots is also the value of the excess supply of broad beans.

This is straightforward: we multiply the excess demand for beans by the relative price, and
add the excess demand for carrots. In all cases in the table in X20.19, we see that this
condition is satisfied.
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Given that Rachel and Sonja share a single feasibility constraint, use an Edgeworth box to
demonstrate that if the market for carrots clears, the market for broad beans must also
clear.

Suppose otherwise. Then it would be possible to draw an Edgeworth box, with dimensions
representing the endowment of beans and carrots, and Rachel’s share of the endowment in
any division measured from the bottom left corner (with the distance from the left edge
representing the quantity of beans, and the distance from the bottom the quantity of carrots
in her consumption bundle), with the feasibility constraint shown as a downward sloping
straight line, passing through the endowment. There are two points shown on the feasibility
constraint, one Rachel’s preferred division, and the other Sonja’s preferred division, where the
quantity of carrots available to Rachel would be the same in both, but the quantity of beans
would be different. This contradicts the assumption that the line has a negative gradient,
since as the quantity of beans increases, the quantity of carrots in the division must decrease.

Show that if there is a Walrasian equilibrium, the division must also be Pareto-efficient.
Continuing to think about the Edgeworth box analysis, if there is a Walrasian equilibrium
then the indifference curves passing through that division share a common tangent, and so
there is no possibility of further, mutually beneficial trade for Rachel and Sonja: if Rachel
increases her utility, it will be at some cost to Sonja (and vice versa). This division is therefore
Pareto-efficient.

Using the results of X20.16, explain why we can be certain that the Walrasian equilibrium
J; will be achieved through an exchange that begins from any division on the line b; + cz =
24,

In X20.16, we have seen that it is possible to trade to the equilibrium division (bg*, cz*, bs*,
cs*) = (8, 16, 16, 8) from a single point on this line. It must therefore be possible to reach this
division from any point on this line.

Assume that Rachel and Sonja have identical Cobb-Douglas preferences over consumption
bundles containing broad beans and carrots:

U(bR'CR):bR%CR%; U(bS’CS ):bsécs%
with a total of 24 kg of both goods in every division.
By partial differentiation, or otherwise, show that if Sonja has to meet a payoff target V;:
Vs > (12), Rachel will propose a division in which bg = cz.
We write the Lagrangean, A, for the constrained optimization as:

A(bR,CR,l):bRécRé +,1[(24_bR)% (24_CR)§ _12]

Partially differentiating with respect to bg and cz, we obtain the first-order conditions:
2 2

oA _ 1% 24— cR)E ( )3(24 bR}

b, 3 (bR)E (24 5, ) =0, sothat A= 24—, ) s and

b b
a—A=§(—”T 24 (ij C:T =0, so that A= ( T(ij ;R y Then since the right hand side of these

Ocp Cr

expressions must be equal, (24 — cg)br = cr(24 — bg), and by = ci.

Confirm that whatever division Rachel proposes, with b, = cg, her marginal rate of

av,
substitution, — % =-0.5.
acg
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For Rachel, marginal rate of substitution, MRS : MRS(bg, cg) =

U 1|
_MU%/IU = 3%} =3 (”R )j =_C_R; and so the result follows directly, given bg = c;.
c U

1
docg 2 (bif ZbR
3 \cp

Hence confirm that if Sonja insists on receiving a payoff Vs, she will just meet that target if
the initial endowment lies on the line b, +2c,=36.

We require Sonja to obtain payoff Vs= 12, and confirm that where Rachel proposes the
division (bs, cs) = (24 — bg, 24 — cg) = (12, 12), Sonja obtains payoff Vs = 125,125 =12; s0 Sonja
just meets her target. We also note that for Sonja, MRSs(12, 12) = -}, since she and Rachel
have the same utility function; so when they divide the allocation equally, Sonja is just able to
achieve her target payoff while Rachel maximizes her utility subject to that constraint.

In terms of an Edgeworth box with dimensions 24x24, reflecting the total endowment, and
with Rachel’s allocation of beans measured along the bottom edge from the left hand corner,
and her allocation of carrots measured along the left edge, we draw in the indifference
curves passing through the division K: (bg. cg; bs, ¢5) = (12, 12; 12, 12) as convex curves, which
have a common tangent at K, with gradient -0.5. We can therefore write the equation of the
tangent as (cg— 12) =-0.5(bgr — 12), so that by + 2cx = 36.

Rachel and Sonja seek to maximize their utilities, which have the same form as in X20.22.
Suppose that Sonja has a utility target Vs = 10. Rachel’s endowment E; = (18, 12); Sonja’s
endowment Es = (6, 12). Sketch a diagram showing (1) the initial endowment; (2) the
Pareto set; (3) the relative price at which they will trade; and (4) the indifference curves
(for Rachel only) at the initial endowment and after trade.

We draw here on what we have already found out about this situation in X20.22. Drawing
an Edgeworth box with dimensions 24x24, reflecting the total endowment, and with Rachel’s
allocation of beans measured along the bottom edge from the left hand corner, and her
allocation of carrots measured along the left edge, we denote the endowment E: (b, ci°; bs',
¢s’) = (18, 12; 6, 12) as a point % of the distance from the left to the right edges and midway
between the top and the bottom edges. We know that from this endowment, given the
relative price p =-0.5, Rachel and Sonja will agree to trade to a division K;: (bg. cg; bs, Cs)
where by = cg and bs = c5, with Rachel giving up 2kg of beans for every 1kg of carrots that she
obtains from Sonja. This implies that Rachel will trade 4kg of beans for 2kg of Sonja’s carrots;
Sonja ends up with 10kg of beans and carrots, and Rachel ends up with 14kg of each.

Rachel ends up better off because she has a larger proportion (in terms of value) of the
endowment.

Confirm that irrespective of her initial endowment, when Rachel’s price offer curve
intersects the Pareto set, by = ¢z, her marginal rate of substitution, MRS, = -0.5.
This follows directly from the argument of X20.22b).

What might be the policy implications of this capacity of an exchange economy to reach a
competitive equilibrium from any initial division of endowments?

This suggests that if we are concerned about the outcome, it is possible to cause some
variation in it by changing the initial endowment, rather than prices within the economy.
This suggests that lump-sum taxes might be preferable to proportional taxes based on
activity, which will change prices.

Using Figure 20.12, confirm that compared with the competitive equilibrium, J*, Rachel
secures a larger share of the final division and so a higher utility when she is able to choose
the relative price p*.
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We note that Rachel’s indifference curve, IC;" intersects the Pareto set above and to the right
of the intersection of Sonja’s price offer curve, Ps, with the Pareto set. The competitive
equilibrium would occur at the latter intersection, so Rachel must be better off when able to
choose the price.

We can write Rachel’s problem formally as:
max (b by (bSE,csE,p),c—cs * (bSE,csE,p)),

where(bs*,cs ).bmax Us(bg,c): pbe+co=pbst +cF

Set out Rachel’s problem for the now familiar case in which the endowment of 24 kg of
broad beans and 24 kg of carrots is divided equally between them, when Rachel’s utility

1 2 2 1
function U,(b,,c,)=by?cy* , and Sonja’s utility function Us(bs,c,)=bs>c,> .
Sonja’s constraint can be simplified substantially in this case, since bs" = ¢s® = 12. She wishes

to maximize her utility subject to the constraint that pbs + ¢s = 12(1 + p). We rewrite Rachel’s
problem as

" (24—bg *(p), 24—c, *(p)), where(bs* ¢, )':"CX Ug(bs,c): pbs+c=12(1+p).

Solve Sonja’s maximization problem, defining her demands bs and c; in terms of the
relative price, p. Note: you can use the expressions for demands obtained in Chapter 9, to
simplify calculations.

We write the Lagrangean, A, for the constrained optimization as:

A(bSlCS//l)zbS%CS% +A[12(1 +,0)—,0b5 =

Partially differentiating with respect to bs and cs, we obtain the first-order conditions:

0b5 ( ); ~4p=0 and ( )j 1=0 SOthGM—g(bs); ( )§ From the latter
equality, 2¢s = pbs.

In addition, in the last first-order condition, g—ﬁ=[12(1+ ,0)— Pb —C5~]=0 , substituting for
pbs, 12(1 + p) = 3cs, so that we obtain (bs* c, ):( (“p) 4(1+p))

Hence, solve Rachel’s maximization problem, defining the relative price, pM, so that Rachel
maximizes her utility.

From b), we are able to simplify Rachel’s problem further: m:XUR (8(2—%),4(5 - p)) This

becomes m:XUR :[S(Z—i)F [4(5— p)F, and on differentiating, we obtain the first-order

condion: %= o2 ) a5 p)F - le—2 ) ats-p) =0,

This simplifies to 7[ (S—p ]=|_8( ——)J, sothat5-p=4p"-2p, and 40" - p-5=0. Applying
1+F

the quadratic formula, we obtain p= =1.25.

Compare the outcome in parts (b) and (c) with the Walrasian equilibrium when prices are
set competitively, confirming that with Rachel able to set the relative price, it is now
higher, that Rachel’s share of the endowment (and so her payoff) has increased, but that
Sonja is worse off. Confirm that the monopoly outcome is not Pareto optimal.
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From X20.16, we know that the competitive equilibrium division is J;: (bg*, cg*; bs*, ¢s*) =

(8, 16; 16, 8), with the competitive equilibrium price, p* = 1. Here we see that Rachel
chooses a relative price p = 1.25, which is greater than in equilibrium. We do not perform all
of the calculations here, but substituting back into the solution of part b), we see that Sonja
chooses the bundle (bs, cs) = (14.4, 9), so that Rachel is able to consume the bundle (9.6, 15).
There is less trade than we would expect there to be in the Pareto efficient outcome, and we
see for Rachel MRS(9.6, 15) = 1.25, so that the requirement MRSz = MRSs = p is not satisfied.

X20.28 Repeat X20.27, but replacing the utility functions and endowments:
12
a) Rachel: utility, U, (bR,cR ):bR3cR3, endowment E; = (18, 12);
1 2
Sonja: utility, U (bS/CS )=b53C53 , endowment Es = (6, 12).

Sonja’s constraint can again be simplified, given the endowments. She wishes to maximize
her utility subject to the constraint that pbs + ¢s = 6(2 + p). We rewrite Rachel’s problem as

’"‘”‘(24 b *(p)) (24-c, (p))é,where(bs*,cs*)::"c" bics : pbg+cs=6(2+p).

We write the Lagrangean, A, for Sonja’s constrained optimization as:
A(bSICSJ'):bS%Cs% +/1[6(2+p)—pb5 _Cs‘]

Partially differentiating with respect to bs and cs, we obtain the first-order conditions:

6b5 (CS)3 ~4p=0,and £ (bs)3 —-4=0, so that A= (Cs)a—g(bs) From the latter

(o

equality,
Cs = 2/?b9

In addition, in the last first-order condition, %:[6(2+ p)— pr —C 5‘]:0, substituting for cs,
6(2 + p) = 3pbs, so that we obtain (b5 s ) (2(1+%),4(2+p)).

We now return to Rachel’s problem, which we simplify as: m:X[24—2(1+%)F [24—4(2+ p)]g,
or

maX[ZZ } 16 4p]7 On differentiating, we obtain the first-order condition:

dy 2 2 ! -1
et o ls-ap] g pa-s lis-sol -
This simplifies to =5 [4 ,0] 11—%, sothat4-p=11p"-2p,and 115° - p-4 = 0. Applying

1+V177

the quadratic formula, we obtain p= ~0.60.

1 1
b) Rachel: utility, UR(bR,CR)=bRZCRZ, endowment E; = (24, 0);

Sonja: utility, Us (bs,cs)zbs%cs%, endowment Es = (0, 24).

Sonja’s constraint can again be simplified, given the endowments. She wishes to maximize
her utility subject to the constraint that pbs + cs = 24. Note that since Sonja has no
endowment of good B, the value of her endowment is constant, and does not depend on the
relative price that Rachel chooses. We rewrite Rachel’s problem as

'"‘”(24 b (p)) (24 Cs (p))%,where(bs*,cs ) ""’Xb cS :pbs+c, =24

We write the Lagrangean, A, for Sonja’s constrained optimization as:
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Albs, 5, A)=bgics: +A[24— pb, —c,.]

Partially differentiating with respect to bs and cs, we obtain the first-order conditions:

gé (CS )z ~Ap=0,and =1 (b‘ )2 —-1=0, so that A=55 (C—S)% =%(f—z)% From the latter
equality,

Cs = pbs.

In addition, in the last first-order condition, %:[24— ,Obs -C 5\]:0, substituting for pbs,
24 =2cq, so that we obtain (bs* ¢, )—(17},12).

We now return to Rachel’s problem, which we simplify as: max[24—¥} 1 2]%, or m:XI 2[2—%}.

1

du,
On differentiating, we obtain the first-order condition: g, Z—[ }2 mO. This is

a rather complicated expression, but we can show that it can only be evaluated for value of p
> 0.5, and that the derivative is decreasing in p, but always positive, so that Rachel will set as
large a value as possible. As p — oo, (bs*, ¢s*) — (0, 12). Rachel takes half of Sonja’s
endowment, offering as little as possible in return. Given the form of the utility functions,
and the extent of Rachel’s monopoly power, this should seem intuitively reasonable
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Chapter 21

X21.1 Suppose Robinson has a diminishing marginal product of labour, while he requires an
increasing rate of compensation for his labour, on the basis that his preferences over
combinations of leisure time and fish are well behaved.

a) Sketch a diagram representing the total quantity of fish that Robinson can catch (as a
function of labour time); and (at least) three separate indifference curves representing
levels of preference over combinations of labour time and fish, one of which just touches
the total quantity curve.

Drawing a diagram with Robinson’s hours of work measured on the horizontal axis and the
number of fish that he catches measured on the vertical axis, we draw an upward-sloping
concave curve that starts from the origin. This output curve represents the total quantity of
fish that Robinson catches. We also draw three upward-sloping convex curves, which begin
from some point on the vertical axis, and one of which is drawn so that there is some point of
common tangency between this curve and the output curve. These convex curves are
effectively indifference curves, drawn on the basis that Robinson trades off effort against
catching fish.

b) Define the agreed wage w as the number of fish that Mr Crusoe gives Robinson per hour of
labour time. Assume that Mr Crusoe will also pay Robinson a retainer — a quantity of fish,
Fy = F(0), in addition to the wage paid for fishing. Sketch straight lines on your diagram
showing the minimum wage that Robinson must be offered to reach each of the three
indifference curves. Decide whether or not the implied production plans are feasible.

We assume here that Robinson is able to choose the number of hours of labour, L, that he
works. He receives total payment W = F, + wL. For him to be able to reach any particular
indifference curve, we have to construct the payment so that there is a point of tangency
between the indifference curve and the value of the payment schedule.

For feasibility, Fo + wL <F(L), where F(L) is the quantity caught given effort. Each production
plan will be feasible if at the planned hours of effort, the number of fish caught is large
enough for him to reach the desired utility target.

c) On a separate diagram, show that the optimal outcome has the characteristics that:

i.  the marginal rate of substitution of fish for labour time is equal to the marginal
product of labour time, and also the agreed exchange rate for fish for additional
effort (the wage);

This is essentially Figure 21.1. We draw a single payoff curve, which shares a
common tangent with the output curve. The slope of the common tangent is the
wage rate that Mr Crusoe offers.

ii. the total compensation which Mr Crusoe offers Robinson is the whole catch of fish;
We achieve this by Mr Crusoe making two transfers — a fixed rate transfer F, plus the
transfer equal to the payment for the time spent working.

iiii. Mr Crusoe maximizes profit by just breaking even; and
The number of fish that Mr Crusoe has to give Robinson will be equal to the number
caught. He cannot give Robinson fewer, or Robinson will reduce his effort.

iv.  Robinson maximizes utility given the production constraint.
This follows directly from the satisfaction of the first-order conditions.
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If the bakery and the creamery operate in perfectly competitive markets, why might they
decide not to use their founders’ endowments of labour and capital?

We have developed a standard model in which all firms in a perfectly competitive market are
the same size, at least in the long run. It would therefore be quite surprising were the
founders’ endowments to be appropriate to that scale of business. This merely relates to the
quantity of factors. If we were to allow for some degree of differentiation in factors, it might
be that other sources of capital and labour would be more efficient than the founders’
endowments.

Suppose that Richard concludes that he could run the bakery more efficiently with less
capital and more labour, while Seth would prefer to hire more capital and less labour. How
might they be able to trade their endowments so that both firms can increase their
output?

This could be done through the bakery hiring Seth as a worker (on a part-time basis), or even
through the creamery seconding Seth to the bakery (from time to time). In the same way,
Seth might borrow money to finance the purchase of assets either directly from Richard, or
else the creamery might borrow the money from the bakery.

12
Suppose that the bakery has a production function b(KB,LB ):KB3LB3 , While the creamery

2 1
has production function C(KC,LC )=KC3LC3 . Set out the firms’ production problems where

the total endowment, (K, L), is divided equally between them, and obtain the Pareto-
efficient outcomes.

For the bakery, the problem is to maximize b = KB%LEE .'WK(K )+WL(L ——) 0. The

creamery’s problem is to maximize c = KC%LC% Wy (KC —§)+ WL( c —3)=0 .
Writing the Lagrangean for both of these problems separately, we have

DKg, L, §) = Ky 5L %+¢(WK §+WL 5 (WKK +w,lL )) from which we derive the first-order

conditions: aK ( ); —¢w,=0; and 2o o0 (&F —gw, =0. Rewriting these conditions as

¢:;(L_B P — (KBT we see that w,Lg = 2wKp,; and taking into account the third of the first-

3wy \Kg 3WL

order conditions, 22 —WK3-I—WL 5 (WKK +w, L ) 0, we substitute to obtain

7 a¢
1

3w K, =3(WKK +WLL) and 3w, Ly =wK+w,L.

We omit the calculations for the creamery, but they are very similar, and recalling that we

expect, with a Cobb-Douglas production function, that the factor shares of expenditure will
be proportional to indices in the production function, we obtain the result 3w, K. =w,K+w,L

and 3w L.=2 (wK+w,L).

Writing the value of the endowment as V = w¢K + wiL, it follows that (Kg, Lg) = ( Y ) and

6wy 7 3w,
that (K, Le) = ( e 6:/ ) We note that we start off with both firms sharing the endowments
exactly equally, so that each firm’s endowments consist of half of the capital and half of the
labour; or of half of the total value of the assets in the endowment.

Repeat X21.4, but replacing the production functions and endowments:
12
Bakery: production, b(KB,LB ):K33L33 ; endowment, E; = (18, 12);

2 1
Creamery: production, C(KC,LC ):KC3LCS; endowment, E- = (6, 12).
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For the bakery, the problem is to maximize b = KB%Lsé Wy (KB —18)+ w, (LB —12)=0 . The

creamery’s problem is to maximize ¢ = KC%LC% Wy (KC —6)+ w, (LC —12):0.

The first-order conditions are essentially the same as in X21.4. We find that w,Lg = 2wKg; but
the feasibility constraint becomes wKz + w,Lg = 6(3wy + 2w,). Substituting for w,Lg, we
obtain w¢Kg = 2(3wy + 2w,) and therefore w,Lg = 4(3wy + 2w,).

Again, we do not do the calculations in detail, but note that the first-order conditions for the
creamery will be satisfied if 2w Lc = wiKc and w¢Kc + w,Lc = 6(wg + 2w,). These conditions are
satisfied when wiKc = 4(wi + 2w,) and w,Lc = 2(wy + 2w,).

11
Bakery: production, b(KB,LB )=KBZLB2 ; endowment, E; = (24, 0);
1 1
Creamery: production, C(KC,LC ):K(_-ZLC2 ; endowment, E. = (0, 24).
1 1
For the bakery, the problem is to maximize b = Kg?Lg? :wy, (KB —24)+WLLB =0. The creamery’s

problem is to maximize c = KC%LC% WK +w, (Lc —24)=0 .

The first-order conditions are essentially the same as in X21.4. We find that w,Lg = w(Kz; but
the feasibility constraint becomes wiKg + w,Lg = 24wy. Substituting for w,Ls, we obtain Kz =
12 and therefore w,Lg = 12wy.

Again, we do not do the calculations in detail, but note that the first-order conditions for the
creamery will be satisfied if w,Lc = wiKe and wiKc + w L = 24w,. These conditions are
satisfied when wiKc= 12w, and L. = 12.

Richard and Seth, who have endowments (K, Lg) and (K, Ls) of capital and labour, form
two companies, a bakery and a creamery, which produce bread and cheese.
The companies hire factors (K5, Lg) and (K., Lc) at prices w and w,, producing outputs

bz[KB% +LB%]Z and c=[KC% +LC%]Z , Which they sell at prices p;g (= 1, so that bread is the
numeraire) and p..

Richard’s and Seth’s preferences over consumption bundles may be represented by the
bscs

b.c
payOffS: UR(bR’CR):b :2 and US(bSICS):b e .
R TCr 500

The companies seek to maximize their profits, given the production functions; and Richard
and Seth seek to maximize their utilities, given affordability constraints.

We first consider production.
Write down an expression for the bakery’s profit, 7.

The bakery makes profits 11, = [K B% +LB%]z -w Kz —w,L;. With the numeraire, pg = 1, revenue
is simply the level of output.

By partially differentiating the expression for profit with respect to the factor inputs, Kz
and L, show that the first-order conditions for profit maximization can be rewritten:

1 1 1 1
Ps (KBZ +Lg? ):KBZWK =Lyw,.
We have to partially differentiate the profit function with respect to capital and (separately)
with respect to labour, setting both partial derivatives to zero. This yields
%%:KB_% [KB% +LB%]—WK =0 and %:LB_% [KB% +1,7 ]—WL =0. The result follows on
rearrangement of these expressions.
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c) Hence, obtain the equivalent conditions, which hold when the creamery maximizes its

profits.
We do not complete the calculations, but by the symmetry of the situation that the firms
face, writing out the profit function, and obtaining first-order conditions for its maximization,

1 1 1 1
we obtain p\K.?2 +L:2 =K 2wy =L 2w, .

d) Show that the profit-maximizing conditions found in (b) and (c) imply that:

i.  the firms employ capital and labour so that ,L(—‘;=,L{—c;

We write the equalities w,Lg* = wiKs” and w,L* = wiK”, rewriting them as
1

_q_ Wil

—1 = 1 -

wyKg2 wiKc2

1
wlg2

The result follows immediately.

ii.  writing the total endowments, Lz + Lc= L and Kz + K. = K, ,ﬁ—f;:%;

Ly+Lle _ Lg(1+t)

Say that Lc = tLg. Then for the result of part i., K¢ = tKz. We write %: rT eyl

and the result follows.

iii. Y —p =p_, so that prices of the two goods have to be equal.

Wi +w,
We write K = (%)_C%, and then substitute for KZ* in the other first-order conditions

1 1 o e ge 1
obtained in c): p, [(v“v’—‘)Jr 1}5 =w,L.?. Dividing through by the common factor L.?,
and writing the expression with p¢ as its subject, the result follows. We repeat the
exercise for the bakery.

e) Hence, confirm that both firms maximize their profits at any allocation for which (K3, Lg) =

f)

AK, L) and (K, Lc) = (1 = P)(K, L). Sketch an Edgeworth box showing the allocations at
which both firms maximize their profits.

We have already shown above that profit maximization requires the firms to share the factor
inputs in the same proportion as they are in the endowment. Any division in which the
bakery obtains a fraction 3 of both inputs and the creamery a fraction (1 - ) of them is
consistent with firms achieving profit maximization, exchanging factor inputs to reach this
outcome.

We draw an Edgeworth box with dimensions equal to the endowments of capital and labour,
measuring the division of capital along the bottom edge and the division of labour along the
left edge, with the bakery’s labour represented by the distance from the left edge to the
division and the creamery’s by the distance from the division to the right edge, and likewise
representing the division of capital from the bottom edge for the bakery and from the top
edge for the creamery.

We then obtain the Pareto set as the upward diagonal in the box, with the gradient of the
isoquants that meet at this point equal to the common marginal rate of technical

substitution: MRTSg = MIRTS = (ﬁ)% .

Given the condition that when maximizing profits both firms hire factors so that the value
1 1
of the marginal product equals the factor price, show that w, =1+(#)2 and w, =1+(%)2 .

K 0.5 L 05
The marginal product of capital for the bakery, MP,® = %JBK—ZE,B). The value of the
B

(KEo.s +1,% )

0.5
KB

marginal product, VMP,E = Ps MpP,E = pB[ } We require vMP,E = w,, and ps=1,
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K L KO.S LD,S L 05
writing Kz = K and Lg = 3L, ( ;53 )=( - ), so that wy = (1+B—M). The other equalities

KllS KB

between factor prices and endowments follow immediately.

Continuing with the production process:

Rewrite the problem facing the bakery so that it maximizes profit subject to the constraint
of having a feasible production plan. Form the Lagrangean, 6.

The firm seeks to maximize its profits on the basis that it hires enough factor inputs to
produce its target output. We write its problem as

o ATy =pgb—w Ky —w, L, : b<( 0s +LBO'5)2, which gives us the Lagrangean, ©:

@(b, Ks,Lg, 0)=pBb —WKg—w, Ly + QI(KBO.S +LBO'5 )2 _bJ'

b) By solving the first-order condltlons for a maximum of @, show that:

i.  The multiplier, 0= p, =
We obtain the f/rst-order conditions by partial differentiation with respect to all four
variables:
%:ps 0=0
L2 =—w, + 6K ‘05( 0% 41,0 )=o; R=——w, +0 ‘05( 0% +LB°'5)=0
%z(KBo.s +LBO'5)Z —b=0
It follows that the multiplier 8= pg;

ii.  For both factors, the (value of the) marginal product is the factor price; and the
W, L,
ratio of factor prices, W—'ZZ(K—ZT

Substituting for the multiplier, pKBﬂ5(KBO'5+LBO'5)=WK, so that the value of the
marginal product is the payment to the factor.

Concentrating on the middle pair of first-order conditions, we obtain the, by now,
familiar result: wiKs>® = w,Ls>°, so that the necessary result follows.

c) Similarly, obtain the first-order conditions associated with the profit-maximizing problem

for the creamery, showing that the multiplier equals the price, p., and the ratio of factor

1 1
. Wy L p ey . K> +L>
prices, 1, =\x; . Hence confirm that K—B=K—C=7 , so that the factor prices are Wy :—K%

and W, :LT (and the final goods’ prices are p, = p. = 1).

2

We omit the derivation of the first—order conditions, writing the relevant ones for these

calculations as WK 0> —9( 0'5) and w K, 0> —9( 0> ) Equating the left

1 1
L} L
hand side of these expressions, we obtain —K:(é)2 . We already know that ﬂ=(K—B)§, and

so Xe _Xe o K" =% As before, writing (Ks, Lg) = (OK, L), we obtain the result, Xe =Xc —x

LB Le T L

0 5
Lastly, we see that for market clearing, we require WK —9( ) and we know
that 0= pg =pc=1. Rearranging the expression so that wy is the subject, we obtain the result

K°5 +19° K% 4+1%°
L05

, and similarly w, =

Wy =
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If the firms reach the allocation (K;, Lg) = AK, L); (K¢, Lc) = (1 - B)(K, L):
Show that MRTS; = — (%)% = MRTS¢; and explain why this ensures that every allocation at
which the firms maximize profits is also Pareto-efficient.

ob_ -05(,, 05 0.5 05
We know from X21.7 that MRTSs = — 6% __Ke _ (KBos + Lsos)z_ L | . andthat
EN L, (KB T4l ) Kg

0.5
MRTS: = _£L_CJ . It follows that if the bakery’s share of the endowment, (Kg, Lg) = (K, L),
c
so that the creamery’s share (K¢, Lc) = (1 -)(K, L), then the marginal rate of technical
substitution is the same for both firms. We represent this property in an Edgeworth box by
drawing isoquants that share a common tangent. This means that there is no possibility of
either firm increasing its output without the other firm reducing its output, and so production
is Pareto efficient.

E
Confirm that for both businesses, VMP, = K+ and the marginal rate of transformation,

1
K2

MRT = 1. Interpret this result.

We define the value of the marginal product for each factor (for each firm) as the product of
the output price and the marginal product of the factor: so for the bakery, the value of the
marginal product of capital: VMP,® = psMP,°. We have already established that pg = pc = 1,
and the result follows.

The marginal rate of transformation MRT = — Z—b=—1 . As production of bread increases,

c

production of cheese has to be reduced by the same amount. (This is not a general result,
but holds here because of our assumption of constant returns to scale in both production
functions.)

In an Edgeworth box, sketch the Pareto set, and the isoquants passing through the
allocation F: (K5, Lg) = (kL) and (K, Lc) = 2(k,L).

In the Edgeworth box, we represent the endowment of capital by its length and the
endowment of labour by its height. At division, F, the bakery’s use of capital is represented by
the distance from the left edge of the box, and its use of labour by the height above the
bottom edge. In this case, the Pareto set is the upward diagonal. We draw the division, F, so
that it is one third of the distance from the bottom, left to the top, right corner of the box.

Show that at the allocation H: (K;, Lg) = B(k,L) and (K¢, Lc) = (1— B)K,L), the bakery

produces b = ﬂ(K% +L%)z , while the creamery produces ¢ = (1—ﬂ)(K% +L%)2
This result follows directly from the homogeneity property of the production function.

Confirm that:

total output, b + c = (K% +L%)z = Yo;
This is simply the sum of the individual firm outputs in the case above. Note that with pg
= pc = 1, the total firm revenue will also be y,,

the value of output, p,b + p.c, equals the cost of production, wiK + w,L;
The cost of production C = wiK + wil = K222 e (K227, = (k05 4 [95)(KOS + 1°F)

K05 105
— (K05 + L0.5 2 =V

both firms make zero profits.
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Since the revenues and costs are equal, this follows immediately.

Sketch the production possibility frontier, illustrating on it point J', corresponding to input
allocation J.

In a diagram with output of bread measured on the horizontal axis and output of cheese
measured on the vertical axis, the production possibility frontier will, in this case, be a
straight line, with equation b + ¢ = y,, so that MRT = -1. At the intersection with the vertical
axis, only cheese is produced, this is the equivalent of the bottom, left corner of the Pareto
set in the Edgeworth box. Similarly, at the intersection with the horizontal axis, only bread is
produced; this is the equivalent of the top, right corner of the Pareto set. For point J, a
proportion [ of the distance from the bottom left corner of the diagonal in the Edgeworth
box, point J* will also be a proportion p from the left hand edge of the production possibility
frontier.

Now consider the problem facing Richard and Seth.
Write down an expression for Seth’s utility, showing that he consumes the share of output
(of both goods, and so of total output) that Richard does not. [Note: In other words, write

down an expression for Seth’s utility, given that bg + bs=b; cp+cs=c;and b + ¢ = (K% +L%)2
Ny
It will be useful to remember that b = f(K®° + L°°)? and that c= (1 - B)(K®® + L>°)’. Then Seth’s
consumption bundle, (b, cs) = (b — bg, ¢ —cg) = [BK®® + L°°)? = by, (1 - P)(K®® + L°°)? = cg].
Seth’s uti/ity is Us: U, (bSICS): bscs :[ﬂ(Ku.s +1_ﬂ-5)27b,;}[(17ﬁ)(1<0.s +L0-5) 7b5j‘ '

bg +cg (Ka,s _H_a,s)z —bp—cp

Assume that Seth meets a utility target us(bs, cs) = us”. Write down an expression for
Richard’s utility maximization problem.
Richard seeks to maximize utility subject to Seth’s utility target. We can write the problem as

max  bgcg | ( )> 0
bg,Cq bg +cp U bS,CS _US :

Calculate Richard’s marginal utilities, MU" and MU_", and his marginal rate of substitution,
MRS®. Repeat the calculations for Seth.

. . .- R_ OUp_ g  bg [ ¢ )2
For Richard, the marginal utility of bread, MUy" = % - =3~ (bRicRR)Z _(bR +o;) - In the same
) ) . R U b bech _( by )Z )
way, we obtain marginal utility of cheese, MUc" = 5 -=3— -~ o bprcy) - The marginal

MU"
MUBR == (Z—';)Z . We omit the calculations but confirm that for
C

rate of substitution, MRS" = —

MU, -
Seth, the marginal rate of substitution, MRS’ = _Wii:_ (CTZ)Z == (Z_Z’; )2 .

Show that if the marginal rates of substitution are equal, then Z—:=Z—z=% . Using the
argument developed previously, confirm that these conditions will be satisfied whenever
Richard consumes a proportion a of the output of each good, and Seth a proportion (1 -
a). [Note: This means that (b, cg) = alb, ¢), and (b, ¢5) = (1 - a)(b, c).]

For the marginal rates of substitution to be equal, ;—sz‘;—i: 2:2’; . Cross multiplying and

expanding the brackets, bgc = cgb, and the result follows directly.
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e) On the diagram showing the production possibility frontier, add an Edgeworth box which
has its upper right-hand vertex at J'. Within the Edgeworth box, show the Pareto-efficient
allocations that satisfy the conditions obtained in part (d).

With b = ¢, we draw an Edgeworth box with the top right corner of the box at the midpoint of
the production possibility frontier, so that the box represents the total outputs. We represent
the bakery’s output by the length of the box and the creamery’s output by its height. At any
division, H, within the box , Richard’s consumption of bread is represented by the distance
from the left edge of the box, and consumption of cheese by the height above the bottom
edge. The Pareto set will be the upward diagonal. We define two points on the Pareto set,
H,, which is one quarter of the distance from the bottom, left to the top, right corner of the
box; and H,, which is three quarters of the distance from the bottom, left to the top, right
corner. In both cases, Richard’s and Seth’s indifference curves meet at their intersection with
the Pareto set, and have a common tangent, which has gradient MRSz = MRSs = MIRT = -1
(see below for calculations).

f) Calculate the common marginal rate of substitution for all allocations in the Pareto set.
Add indifference curves for Richard and Seth to your sketch, assuming that a =%, so that
each consumes half of the output of both goods. Explain why the allocation of goods in
the Edgeworth box is not consistent with a general equilibrium.

MU,
For Richard, MRSg = — MUZZ =— (%;)z =— (‘é—;)z =— (%)Z .
For Seth, MRSs = — (‘;_55)2 = (7(11:_(;)% = (%)2 . The marginal rate of substitution is the same
for both, as required for Pareto efficiency. We note that we require the common marginal
rates of substitution to be equal to the marginal rate of transformation.

g) Show that the condition MRS = MRSs = MRT = Z—" can only be satisfied when b =c =

%(K% JFL%)Z . Sketch a new diagram showing the production possibility frontier; the

allocation H' for which b = c and the associated Edgeworth box; the Pareto set within the
box; the Walrasian equilibria when (i) a =% and (ii) a = %; the indifference curves passing
through the equilibria; and the common tangents to the indifference curves at each
equilibrium. Demonstrate that the equilibrium conditions are indeed satisfied.

We have already shown that MRT = -1, so that MRSz = MRS = —(%)2 =—1. We obtain the

result that b = c. We have already described the Edgeworth box in part e). The equilibrium
conditions are all satisfied because on the Pareto set, the common marginal rate of
substitution equals the marginal rate of transformation.

X21.10 Consider the situation in X21.9 where o = %. Suppose that Richard agrees with Seth to a
reduction in the value of & to . They then share the total factor incomes equally.

a) Explain why we would not expect the product mix to change, so that the bakery and the
creamery would continue to hire the same quantity of factor inputs, and the combination
of outputs in the economy would remain unchanged.

We have demonstrated that Richard and Seth will always choose consumption bundles
containing the same proportions of bread and cheese, so that with these (CES) preferences,
market demands are independent of income shares.

b) Sketch a diagram showing: the production possibility frontier; the Edgeworth box and the
Pareto set; the allocations of final goods before and after the change in income shares; and
also the indifference curves passing through the Pareto-efficient allocations before and
after the income change.
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We have already seen that in a diagram with the quantity of bread measured on the
horizontal axis, and the quantity of cheese measured on the vertical axis, that the production
possibility frontier has the equation b + ¢ = (K*° + L°°)2, which is a straight line with gradient -
1. We require that b = ¢ = %(K>* + L°°)?, so that factors are allocated with production at the
midpoint of the line. Then, given preferences, whatever the share of factor incomes accruing
to Richard and Seth, they will both choose to buy equal quantities of bread and cheese, (so
that by = cgr and bs = cs; and of course markets clear so that bg + bs = b and ci + ¢s = c. Making
these choices, MRS, = MIRSs = -1, so that their indifference curves through any Pareto-efficient
division of goods share a common tangent, which lies parallel to the production possibility
frontier. Before Richard transfers resources to Seth, the indifference curves meet three-
quarters of the way up the diagonal of the Edgeworth box; afterwards, they meet at the
midpoint of the diagonal (and indeed of the box).

In X21.9, we obtained a linear production possibility frontier. Explain why we would
obtain a linear utility possibility frontier. Confirm that if factor inputs are not allocated so
that b = ¢, then even if production is efficient, the utility profile will lie in the interior of the
utility possibility set.

The main argument for obtaining a linear utility possibility frontier is that the utility functions
are homogeneous of degree 1. This means that if the division of goods is Pareto efficient,
then increasing Richard'’s utility by some amount will be accompanied by an equally large
reduction in utility for Seth.

We note that if b #c, then the Pareto set for the consumption problem will still be the
diagonal of the Edgeworth box. However, if b < ¢, then the diagonal will be steeper and MRSy
= MRS < -1, so the common marginal rate of substitution is less than the marginal rate of
transformation. By increasing production of bread (and reducing production of cheese), it is
possible to effect a Pareto improvement.

Working with the utility possibility frontier in X21.11, calculate the most-preferred utility
profile for the social welfare functions, w, where (a) w(ug, us) = min(ug, us); (b) w(ug, ug) =
Inug + Inug; () w(ug, us) = ug + 2us; and (d) w(ug, us) = Ug us”.

We write the linear utility possibility frontier, uz + us = vy. Then us = vy— Ug.

If w(ug, us) = min(ug, us), then the social planner considers utilities to be perfect complements.
The planner’s objective is to maximize the lesser of ug and vy — uz. So long as ug < vy — Ug,
then increasing uz, min(ug, us) = up, and this expression increasesis increasing in ug.

The same is true when min(ug, us) = us; increasing us increases social welfare.

As in previous examples, with this form of function, the welfare maximizing consumption
profile (ug*, us*) = (%vq, ¥%vy); and in terms of resources, the social planner directs transfers so
that Richard and Seth share the factor income equally.

For this we simply require the usual first-order condition — that the marginal rate of
substitution for the social planner is equal to the marginal rate of transformation — to be

w
satisfied. This occurs when MRS, =— a%V=—1=/VIRT . Given the utility function. 2%-=-1

Oug  ug
dug

and gTW:ui . We therefore require ug = us, or a division of resources that allows Richard and
S S

Seth to generate the same utility.

When w(ug, us) = ug + 2us, we have a planner who treats utilities as perfect substitutes;
however the planner also places greater weight on Seth’s utility than on Richard’s utility, and
so we observe that MRS, =-0.5 >-1 = MRT. The planner gives all the resources to Seth.
Again, we require the usual first-order condition — that the marginal rate of substitution for
the social planner is equal to the marginal rate of transformation — to be satisfied. This
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w
occurs when MRS, =— a%V=—1=/\//R T . Given the utility function, we obtain marginal

Oug

1
cpey . . . . . ow _ 3|Us . . . . _
utilities in terms of partial derivatives @—z(z)z. Taking their ratio, we require ug = 3us, or a

division of resources that allows in which Richard to derive three times the utility of Seth.

Using diagrams, explain why a social planner with a utility function such as (a) in X21.12
has a very strong commitment to egalitarianism.

We are already familiar with the representation of preferences where goods are perfect
complements. In a diagram with Richard’s utility, us, measured on the horizontal axis and
Seth’s utility, us, measured on the vertical axis, we draw indifference curves as L-shaped, with
the vertex of each indifference curve found on the line ug = us. Drawing in a utility possibility
frontier, and placing the requirement that -co< MRT < 0, so that the frontier is always
downward sloping, then increasing Richard’s utility, Seth’s utility must decrease and there
can only be one utility profile (ug*, ug*) where they both receive the same payoff. At this
point, the first-order condition, that there is a common tangent to the utility possibility
frontier and the social welfare function, is satisfied. Such a social planner will act to ensure
that there is equality of outcomes.

Suppose that the social planner’s preferences are captured by form (b) of the social
welfare function in X21.12. Sketch the social welfare indifference curves, w=1, 2 and 3.
What would you conclude about the slope of the utility possibility frontier on the line ug =
us if the planner chooses the utility profile (ug*, us*): ug* > us*?

In a diagram with Richard’s utility, uz, measured on the horizontal axis and Seth’s utility, us,
measured on the vertical axis, we see that the indifference curves are rectangular

hyperbolae, with the equation us = Z—w These curves will be smooth, convex, downward

R

sloping, and will approach the axes, but never cross them.
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Chapter 22

X22.1

X22.2

X22.3

X22.4

b)

Assume that the value of an hour’s leisure to a typical commuter is £15. If 20,000 cars
enter a city during the period of excess demand, calculate the daily and annual costs of a
30-minute delay every day. What do you conclude about the size of the investment
needed to eliminate congestion?

We estimate the value of foregone leisure (per day) to be 15*0.5*20,000 = £150,000. We
estimate the value of removing congestion from the city during the rush-hour (250 days per
year, with a 10-year payback period) to be of the order of £375m. Given that, this is the
value of a relatively modest public infrastructure project (the construction cost of the
dresund Bridge, linking Copenhagen and Malmé, was approximately DKK30bn, or about
£3bn, when it opened in 2000.)

In the short-run analysis of production, we argue that the marginal product of labour will
be eventually diminishing, and this ensures that firms will not expand its use without limit.
Explain why, given our present assumptions, we might expect the farmer to be happy
always to have more beehives on the land. Criticize the argument. [Hint: Think of the
problem of commuting.]

We have made the assumption that the marginal product of labour will always be positive.
There is no cost to having beehives on the farm in the current specification of the model, but
this is not possible — apart from anything else, there is a risk of congestion, and presumably
also at very high densities, there would be concerns about safety.

Show that there is a positive externality on production of honey from choice of orchard

size, T. Explain how this affects the choice of labour input, L,, and the quantity of honey

omp,,
aT

produced. Confirm that so long as we assume > 0, the beekeeper would always

prefer a larger to a smaller orchard.

b

In Expression 22.6, differentiating the marginal product of labour, o,

with respect to

orchard size, T, we obtain air(ng,),) > 0, by assumption. Increasing T, the marginal product

increases; equilibrium is reached with a larger labour input, and the beekeeper benefits from
the orchard increasing in size.

Consider the following situation. We write the short-term production function for the
farmer, A: A(L;, b) = 50L,°'5b°'25; the short-term production function for the beekeeper, b:
b(L,) = 4L,>%; and the associated output of honey, h: h(b) = 125b. The price of apples, p, =
2, while the price of honey p, = 8. The farmer’s wage, wy = 10, and the beekeeper’s wage,
w,, = 20.

Write down the farmer’s profit function. Partially differentiate the derivative with respect
to the labour input, L;, and, by obtaining the first-order condition, show that the farmer
maximizes profits by working LfP = 25b",

We obtain the profit IT;: IT = p,A - wils = 2[50L°b°*°] — 10L;. Differentiating,

%zSOLﬁ"sbm —10=0 if Lf0'5 =5b%%; and squaring both sides, we obtain the required
f

expression for the profit maximizing use of labour.

Write down the beekeeper’s profit function. Partially differentiate the derivative with
respect to the labour input, L,, and, by obtaining the first-order condition, show that the
beekeeper maximizes profits by working L,” = 10,000.
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We obtain the profit I1,: I, = ph h(b(Ly)) — wyl,, = 8.125.[4L,°°] — 20L,. Differentiating,
m" =2,000L,7%° —20=0 if L,"° = 100; and squaring both sides, we obtain the result.

Calculate the size of the beehives, the total outputs of apples and honey, and the total
revenues, costs and profits of both the farmer and the beekeeper.

We have found the following: L,= 10,000; b = 4L,%° = 400; Ly= 25b%° = 500; output of apples
As=50L°b%% = 250b°° = 5,000; output of honey, h = 125b = 50,000.

Revenue from sale of apples Ry = 2A = 10,000. Cost of production, C; = 10L; = 5,000, so profit
for farmer 11 = 5,000.

Revenue from sale of honey, R, = 8h = 400,000. Cost of production C, = 20L, = 200,000, so
profit for beekeeper 11, = 200,000.

Continue with the situation set out in X22.4.

Write down the social planner’s payoff function as the sum of the farmer’s and the
beekeeper’s profit functions. Partially differentiate the function with respect to the labour
inputs, L;and L,. Confirm that the optimal labour input for the farmer L/ = 25b°°, and that
the socially optimal labour input for the beekeeper reflects both the optimal private use
plus the positive externality on the farmer’s production.

We write the social planner’s objective, ITs: ITs = 2(50L°b%%) + 8(500L,"°) — 10L;— 20L,.

Note that b = 4L,"*. Partially differentiating with respect to L;, %s _50Lf‘°'5b"'25 —10=0,

if Lf0'5 = 5b%%; and squaring both sides of the expression, the result follows.
Partially differentiating the payoff, I1s with respect to L, we obtain

66” s = (50L 02p07° )(ZL w05 )+2 000L,™°° —20. The first term in this partial derivative is the

effect of the externality.

Without attempting calculations, compare the socially optimal and the privately optimal
sizes of beehives. Discuss the impact of beehive size on the total outputs of apples and
honey, and the total revenues, costs and profits of both the farmer and the beekeeper.
The optimal size of the beehive increases because we take account of the indirect effect of
the beehives on apple production and profits. With a larger beehive, the farmer produces
more apples, and the beekeeper more honey.

Discuss how the farmer might be able to encourage the beekeeper to increase the level of
output from the privately optimal to the socially optimal level.

Given the circumstances, we would expect the farmer not simply to allow the beekeeper to
place hives in the orchard, but to pay the beekeeper for providing the pollination service.

Adapt Expressions 22.2 and 22.5, so that the farmer subsidizes the beekeeper’s wage at a
rate, s,. Find the new first-order condition, and the value of the subsidy, s,, that will lead
to the socially optimal outcome.

The farmer’s profit can now be written as I 11 = ppA(Ly, b, To) — wils—spL, — rTo. The
beekeeper’s profit can be written as I1,: I1, = pyh[b(Ly, To)] - (Wp - Sp)Lp.

As before, the farmer’s profits are determined by both of the labour inputs, but through
making a payment to the beekeeper the farmer is able to affect the beekeeper’s choice of
labour input.

We obtain first-order conditions, by partially differentiating profits with respect to their own

labour input for both the farmer and the beekeeper: 22+ =p,= —wf =0, and

= =Pp %%—(wb —-S, ): 0. Comparing this expression with expressions obtained in X22.5,
b b
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we conclude that if the farmer is able to pay the subsidy equal to the marginal benefit of the
externality, then the beekeeper will choose the socially optimal level of the externality.

Sketch a diagram showing the situation facing a firm and the market in long-run
equilibrium where there is perfect competition with the long-run supply curve: (a)
perfectly flat; and (2) downward-sloping. Show how a change in demand conditions
affects the equilibrium in each case.

The analysis of firm and industry behaviour was presented in Chapter 14. We draw the
diagrams with two panels, the left-hand one illustrating firm decision making and the right-
hand one illustrating the market outcomes. Both panels have measures of revenue and cost
shown on the vertical axis, with firm output measured on the horizontal axis of the left panel
and market output on the horizontal axis of the right panel.

Beginning with the long-run supply curve being flat, we illustrate this in the right-hand panel
by a flat line, p = p,. In the left panel, we also draw in the line MR(qs) = AR(qy) = po, showing
that the firm’s demand is perfectly elastic at this market price. In the left-hand panel, we also
draw in a U shaped average cost curve, which has its minimum at some output g, where the
flat line,

MR(qy) = p, is tangent to the average cost curve. Then, drawing in a marginal cost curve
which intersects the average cost curve at its minimum, we see that the profit maximizing
condition MC = MR is satisfied when q = qo, and since AC(qo) = AR(q,), the firm makes zero
profits. We argued in Chapter 14 that the expansion of the market will be achieved through
entry, with firms remaining at the same scale as demand increases. We illustrate this in the
right-hand panel by sketching two curves representing market demand, noting that the
market price given by the intersection of market supply and market demand does not change
with demand conditions, so that profit maximizing firms maintain their output.

We largely replicate the analysis in the second diagram. Now, though as market demand
increases, the market price falls from p, to p;. For the firm, this means that MR = AR = p;
after the increase in demand. We have seen that AC,,,, = pp with constant returns to scale.
With increasing returns to scale, we require the firms in the market to use resources more
efficiently as the market size increases, so that the marginal cost curve for the firm in the left
hand changes, lying below the original marginal cost curve at all levelof output. It follows
that there will also be a new average cost curve, and we require that average cost curve to
have its minimum at some output q; >qo, where, similarly to before, AC(q;) = AR(q1) and
MC(q;) = MR(q,), so that profit-maximizing firms make zero profits.

One important element of cooperation in an industrial district is the emergence of
technical colleges, often funded with endowments by local businesses. Discuss their role
in enabling businesses to increase productivity.

Colleges enable workers to increase their skills, and through such training to increase their
productivity. The output of the firms hiring them will also increase. Yet since workers are
mobile, there is a positive externality associated with training workers within a firm, and so
collaboration can increase the level of training beyond the level associated with the private
solution.

Confirm that for f > 0, average costs AC;(f) > ACy(f), and marginal costs MC,(f) > MCy(f).
This is quite straightforward, since h is increasing in Cyand h > 1. We write Cy(f) = h[Cy(f)].

Then the average cost, AC,(f) = #>C"TU) = ACy(f); and the marginal cost MC,(f) =

%Mco(f) > MCyff).
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To what extent is it reasonable to expect the owners of the power station to compensate
the owners of the fish farm for the loss of profits that might occur as a result of the power
station opening?

Your answer to this question is likely to depend upon the characterization of the problem that
you choose. If you consider that the fish farm has had access to clean water before the
power station was built, and that in effect it has a right to expect clean water, then it should
be able to demonstrate that the operation of the power station is detrimental to its activities,
and to that extent, it deserves compensation. Alternatively, if you consider that it is simply
accidental that the fish farm has had clean water, and that it has simply used the river water
because that is most convenient for it, then, while accepting that the operation of the power
station is detrimental to the fish farm’s activities, you might argue that if the fish farm wishes
for cleaner water, then it should pay the power station to reduce its pollution. Your answer
should therefore turn on the question of whether the fish farm has a right to clean water, or
whether the power station has an unrestricted right to use the water from the river.

Define the social costs of power production as the sum of the direct costs, measured by
the power station’s cost function, C(w), where w is its output, and the costs experienced by
other businesses, S(w), which are directly attributable to pollution resulting from power
generation. Assume that the power station has entered into long-term wholesale
contracts, and so can sell any quantity of power at a constant price, p,,. Explain how the
power station’s optimal output would differ were the power station required to provide
compensation for the loss suffered by other businesses.

In the private solution, the power station only considers its direct costs, C(w). We expect it to
adopt the efficient production level, w,, chosen so that MC(w,) = j—f/ =p(wy). In a socially
efficient solution, the power station considers both private and social costs, and so we define
the social cost, SC: SC(w) = C(w) + S(w). Then the efficient solution will occur at production

level w,, chosen so that MISC(w;) = g—5+g—5 =p(w;).

w

Confirm that where the private solution is allowed to emerge, the power station makes
(economic) profits, but when the social optimum is imposed, it makes losses.

We draw the diagram so that output is measured on the horizontal axis and value measures
are shown on the vertical axis. We show the market clearing price as a flat line, on which for
any level of output, E, MR(E) = AR(E) = p. We show the marginal (private) cost as a U-shaped
curve, which starts from the vertical axis above p, cuts through the line MR = p, reaches a
minimum, and then increases intersecting the line MR(E) = p when E = Ey*. This is the firm’s
profit maximizing output. For the firm to make profits, consider the two areas enclosed by
the marginal revenue curve and the marginal cost curve to the left of E = E,*. The area below
the marginal revenue curve must be larger than the one above the marginal revenue curve
(remember that when marginal cost is greater than marginal revenue, then increasing
production reduces profits).

For the case of social costs, we draw the marginal social cost curve so that it is also U shaped,
but lying above the marginal private cost curve. As drawn in Figure 22.3, where marginal
social cost is always greater than marginal revenue, the firm fails to make social profits.
More generally, we draw it so that it intersects the marginal revenue curve (twice), with the
profit maximizing output at E;*, where marginal cost is increasing. The firm makes (social)
losses if the area enclosed by the marginal cost and marginal revenue curves below the
marginal revenue curve is less than the area enclosed by the curves above the marginal
revenue curve.
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We have argued that power networks are likely to experience increasing returns to scale in
production. Adapting Figure 22.3, explain why this might increase the need to impose the
socially optimal outcome.

We draw the diagram so that output is measured on the horizontal axis and value measures
are shown on the horizontal axis. We continue to draw the marginal revenue and average
revenue curves as being the same flat line, so that for any level of output, E, MR(E) = AR(E) =
p. With increasing returns to scale, the marginal cost curve is always downward sloping.
Once it is below the marginal revenue curve, it remains below it for all higher levels of
output. This implies that the first-order condition for profit maximization can never be met
(and this is the basis for the argument that there would be a natural monopoly in this
market).

We can, though, create a marginal social cost curve that is eventually increasing, and argue
that the welfare maximizing level of output will be achieved where this intersects the
marginal revenue curve from below, at output E;*.

We have assumed in this argument that there is no change in the market price, assuming
that the power station faces perfect competition. Consider the situation facing the
industry, and explain why this is unlikely. Indicate what you would expect to happen to
the market price and the quantity produced, taking into account the likely effects on the
market price and the quantity that each firm will produce.

Power generation has typically used technologies in which there are very substantial scale
economies, so that efficient power stations require substantial capital. This means that
across a large range of possible outputs, power generation businesses will experience
diminishing marginal costs, and they can expect to have substantial market power. We
therefore expect these firms’ marginal revenue functions to be decreasing in output, so that
when maximizing profit, they set price above marginal cost, and restrict output.

Compare the marginal tax rate imposed when applying the Pigovian and the flat-rate tax.
The marginal tax rate under the Pigovian tax rate is the difference between the marginal
social cost and the marginal (private) cost at every level of output, and so both average and
marginal tax rates vary as the marginal rates change. The flat-rate tax will be set so that it
has the same effect as the Pigovian tax. It is set so that the quantity traded Q(t)clears the
market at price (including tax), so that the marginal social cost, MSC(Q(t)) = MSB(Q(t)), the
marginal social benefit. Note that where the Pigovian tax changes as market conditions
change, the flat-rate tax will need to be adjusted consciously by the government.

Repeat the analysis of the imposition of a tax, assuming that the government applies an ad
valorem tax (that is, a tax that is a constant proportion of the value of sales). Explain why
the Pigovian tax will be an ad valorem tax when both the marginal private cost and the
marginal social cost functions are linear.

Our analysis is essentially the same as above. The ad valorem tax is proportional to the price
set, and so may need to be adjusted as market conditions change. In the case where
marginal private cost and marginal social cost are both linear in output though, their
difference, the marginal tax rate, will also be linear.

Treating the government as a social planner, what concerns might it have about the effect
of a tax on a single good in general equilibrium? [Hint: Think of the condition that MRT =
MRS for all goods.]

The marginal rate of transformation (MRT) is represented for any output combination on the
production possibility frontier as the gradient of the tangent to that point on the frontier. In
a competitive equilibrium, MRT equals the ratio of the prices received by producers. The
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marginal rate of substitution is the rate at which individual consumers substitute one good
for the other, maintaining constant utility. In a competitive equilibrium, MRS equals the ratio
of the prices paid by consumers. If a tax changes one price only, then MRT = MRS.

Adapt Figure 22.5 to show the situation in which the combination of licence and fine fails
to reduce the externality to the optimal level.

The diagram is exactly the same except that at the level of output where the fine starts to be
imposed, the marginal (private) cost + fine will be less than the market price. The curve
labelled MC” + f therefore begins below the flat line, labelled Price, and intersects it to the
right of output E;*. This intersection will be the output, with firms willing to pay the fine, and
produce an output in excess of the maximum permitted level.

Suppose that the government is able to require producers to pay a licence fee, without
which all production is illegal. Indicate on your diagram the size of the largest fee that the
government could persuade a power station to pay.

The largest amount will be the area bounded by the marginal private cost curve and the line
labelled ‘Price,” which is effectively the marginal revenue curve. This is the producers’
surplus. Restricting output to E;*, the producers’ surplus would be the area between the
marginal private cost and marginal revenue curves, but to the left of the line E = E;*.

Confirm that whether or not a licence fee is collected, the usual efficiency conditions for
general equilibrium cannot be satisfied when production is restricted. [Hint: Concentrate
on the values of the marginal products of input factors, assuming that businesses require
both capital and labour inputs.]

Factors of production tend to be more productive — that is, have a higher marginal product —
when the scale of production is restricted. So the value of the marginal product of factors in
industries where there is a production quota is likely to be higher, so that the factor and
output prices will be higher than where there are no restrictions. We conclude that there will
be inefficiencies in the resource allocation. The requirement for efficiency, that the marginal
rate of transformation is equal both to the ratio of factor prices and to individual consumers’
marginal rate of substitution, is no longer satisfied.

Suppose that the government issues licences allowing firms to produce any output up to
the socially optimal output E;*, but with a fixed payment, irrespective of the scale of
output. Assume that the government sets the fee so that it captures the entire surplus of a
business operating at the maximum scale. Show that no business will wish to enter the
market and operate at a smaller scale. Discuss why the businesses already in the market
might be willing to accept such a restriction.

This is a different proposal from a per-unit, or ad valorem tax. It is intended to be a lump
sum tax, very similar to the proposal for licensing. The amount of the lump-sum tax is the
maximum producer surplus. Firms that do not produce at the level of output allowing them
to generate this will make losses; existing firms will make no profits, but will still be
economically viable.

We continue to assume that the activities of a power station include pollution of the water
supply for all firms operating downstream. Instead of licensing power generation, the
government tolerates the production of the externality, here pollution. (It is still possible
to detect all unlicensed emissions costlessly; and the fines imposed for failure to obtain
licences in advance are large enough to ensure perfect compliance.) We also assume that
the licensing environment involves two elements. Power stations can either:
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¢ undertake to pay the costs of pollution recovery directly, ¢ = c,x + c,x*, where x is
the level of pollution; or else
e purchase a licence permitting the production of a specific number of units of
pollution, paying a fee f per unit.
All power stations generate pollution x = x;E, where E is the plant’s power output.
Write down an expression for the costs of: (i) recovering the externality; and (ii) paying the
licence fee in terms of the output of power.

The total abatement cost, C = cix + szz; the marginal abatement MAC = %:cl +2c2X . In

terms of the power output, since x = x;E, where E is the power output, MAC = ¢, +2c, Xi The
1

. dF
marginal fee, = = fi.

Calculate the level of output, x*, above which a power station would prefer to pay the
fixed licence fee rather than the recovery costs.

The firm will choose to pay the fee when c; + 2¢,x > f;, or when x > x* = %(ﬂ _Cz)-

Show that if process innovation leads to a reduction in the value of c,, the value of x* will
also increase.

Formally, we differentiate and confirm that %>0. Intuitively, we note simply that the form

C;
of the expression for x* indicates that x* is inversely related to c,, so that any reduction in c,
leads to an increase in x*; and firms will tend to switch from paying the licence fee to paying
the recovery costs.

We typically define the marginal abatement cost for a power station as being the rate of
change in the cost of reducing production of an externality with the level of output.
Assume that a power station is initially producing externality x,, but recovers a quantity, x,
and that its total abatement cost, ¢ = ¢;x + ¢,x%.

Write down an expression for the marginal abatement cost.

The marginal abatement cost is as defined in X22.23: MAC(x) = ¢; + 2¢,x.

Sketch a diagram showing the marginal abatement cost (but show the unrecovered
component of the externality on the horizontal axis, so that the curve is downward-
sloping). Assume that the government charges a fee f for each unit of the externality that
is not recovered. Show the power company’s preferred level of recovery.

In a diagram, showing the unrecovered quantity of pollution on the horizontal axis and costs
on the vertical axis, the graph of the marginal abatement cost is a downward-sloping line
segment with gradient -2c,. It passes through the vertical axis at (0, ¢, + 2¢,Xy), and extends
as far as

(xo, c1). Showing the government imposed cost, f, charged on non-recovered pollution, the
firm will pay the fee on the quantity (x,— x*), defining x*: c; + 2c,x* = f, as in X22.23.

Suppose that improvements in the recovery technology lead to a reduction in the value of
¢,. Confirm that the power station will choose to increase the extent of recovery.

This is perhaps done most easily on a graph. The effect of the reduction in the marginal
abatement cost is seen as an anti-clockwise rotation of the MAC curve around (x,, ¢;). This
has the effect of shifting the intersection of the MAC curve and the line c = f to the left, so
that x*, the quantity recovered by the firm, increases.
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d) Similarly, suppose that improvements in the production technology lead to a reduction in

e)

the value of x; at any level of output. Confirm that the power station will treat this as an
improvement in technology that reduces its marginal cost, and will therefore tend to
increase its output, while reducing production of the externality.

For the firm, taking into account the charging regime, profits depend upon output and the
extent of pollution, so I1= I1(E, x). But we have defined pollution, x: x = x4E, a linear function
of output, E. A reduction in the value of x; would mean a reduction in the level of pollution
for any level of output, and would reduce the costs imposed on the business. The firm
therefore increases its output, while reducing pollution.

For marginal social cost MC; = s, + 2s,x, calculate the output at which the marginal
recovery cost and the marginal social cost are equal. Explain why this is likely to be an
economically efficient outcome.

Marginal social cost increases in the level of unrecovered pollution. When marginal social
cost equals marginal abatement cost, the benefit to society of further recovery is less than
the cost of the activity; the first- (and second-) order conditions for an optimum are satisfied.

51 —C1+2C,Xg
2(c;-s, :

With MCs = s, + 2s,x and MAC = ¢, + 2¢,(x — Xy), equating these expressions, x =
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Chapter 23

X23.1

a)

b)

c)

d)

f)

g)

X23.2

X23.3

Discuss the extent to which the following are likely to be either non-excludable or non-
rivalrous in consumption:

Air (that is, the gases constituting the atmosphere of the earth).

This is neither excludable nor rivalrous: we all breathe (from birth), and in doing so do not
exhaust the atmosphere.

Water held in a reservoir for domestic and industrial usage.

Excludable and rivalrous: without a connection to the distribution system, access is
impossible (although it may be quite difficult to remove access once granted); and as
widespread droughts (e.g. in the South West of the USA) demonstrate, use by one group
reduces the ability of others to consume.

The road system surrounding a city; and the pavements of the city streets.
Non-excludable, but rivalrous: there is no charge for entry; and the discussion of congestion
in Chapter 22 confirms rivalry.

The public transport system (rail, buses, trams, etc.).

Excludable (in principle) and rivalrous: while on many systems, it is possible to board vehicles
without paying for a ticket, such behaviour is generally illegal. Again, the resource becomes
congested during periods of peak demand.

The benefits of an inoculation campaign for an infectious disease such as polio.
Non-excludable and non-rivalrous: Costs will be borne from public funds, and there is
generally a positive externality, in that sufficiently high levels of inoculation will reduce the
probability of infection to close to zero — in the case of polio, potentially globally.

The national defence and security services provided by the government.

Non-rivalrous and non-excludable: there have been legal challenges brought by pacifists to
the collection of taxes that might be used to fund defence expenditure; none has been
successful. All benefit from these services, and the benefit is enjoyed without private use of
the resource.

Global positioning by satellite technology.

Non-rivalrous and non-excludable: formally part of the national defence service of the United
States of America, it can be used without restriction anywhere on the surface of the earth
(see below for further discussion).

What evidence is there that people’s WTP for the location identification services provided
by GPS is greater than zero?

People are willing to buy and rent devices that provide no other services; although these are
being subsumed by somewhat simpler services provided by smartphone.

GPS was developed by the Department of Defense in the USA for its own purposes. Why
might we expect a government agency to have taken the lead in this project, rather than
relying on market-based institutions to provide the investment?

We might reasonably ask who, other than government, would wish to develop such a service.
In order for private provision to develop, there has to be a market for the service. Note that
smartphones often do not use GPS to provide mapping services, but rather rely on the
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terrestrial network of local transmitters, so that such mapping services are bundled with their
other services.

Consider a proposal to install streetlights in a small village. The proposal will go ahead if
the amount that each villager is willing to contribute to the fund meets the cost of
providing the lights. What difficulties might there be in relying only on voluntary
contributions to fund the scheme?

Anyone living in the village who does not provide any contribution cannot easily be denied
access to the service, which is neither rivalrous nor excludable.

n
Confirm that if the sum of household valuations, V: V= ZCh <P, then the proposal to
h=1

install streetlights must fail.

n
When V= ZV,, <P, then the total value of the service to the households is less than the price
h=1
of providing it. The sum of contributions, C <V; otherwise, there are people offering to pay
more than their WTP.

Assume that v, = v, so that every household places the same value on the service, and that
the feasibility condition in X23.5 is satisfied. Confirm that there are two symmetric Nash
equilibria: (a) where c, = 0 for every household; and (b) where ¢, =c,and C=nc=P.
Discuss whether equilibrium (a) or equilibrium (b) seems more likely to occur.

We assume that all except one household has made its decision, with the other (n -1) having
adopted the Nash equilibrium strategy.

With n — 1 household having decided to make contribution c, = 0, household n can make
contribution c,: 0 < ¢, < v, and be worse off than when making contribution c, = O; the
contribution is not sufficient on its own to provide the service, and the individual will not
meet the whole cost of provision. So c, =0 is a best reply, and strategy c;, = 0 supports a
symmetric Nash equilibrium.

With n — 1 household having decided to make contribution c, = ¢ = %, household n can make

contribution c, = ¢, ensuring that supply is (just) fully funded. Offering more would not
increase access to the good, and so the household would be worse off offering c, > c than
when making contribution c, = ¢; and contribution c, < ¢ would not be large enough to secure
the service. So c, = cis a best reply, and strategy c;, = ¢ supports a symmetric Nash
equilibrium.

We might consider that the equilibrium in a) will emerge if there is a low trust situation, while
the equilibrium in b) might emerge in a higher trust situation; we would analyse these
outcomes in terms similar to the Stag Hunt game, using mixed strategies in which the
expected payoff to contributing would equal (or exceed) the expected payoff to not
contributing.

Confirm that there is an equilibrium in which for household n, c, = 0, but for all other
households, ¢, =ﬁ < v. Discuss the likelihood of being able to sustain such an

equilibrium.

We do this in two parts. Firstly, we note that for household n, given the strategy of the other
n — 1 households, the level of provision will not increase for any value of ¢, =0, so thatc,=0
is the best reply to the other households’ strategy. Secondly, we note that for all of the other
n — 1 households, any contribution less than c,, leads to the failure of supply; the household
cannot be better off. For contributions c > c;, the level of provision does not increase, so
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again, the household cannot be better off. The proposed action profile is therefore a set of
consistent best replies, and so a Nash equilibrium.

Suppose that Vishal and William live in houses at the end of a narrow track, 100m in
length. They have received an offer from a local contractor who is willing to pave and
widen the track as part of a development project, but Vishal and William have to meet the
cost of provision, which is £250 per metre. Assume that Vishal’s marginal willingness to
pay, MWTP, = £125/m; while for William, MWTP,, = 250 — 1.25x, where x is the length of
paved road.

Sketch a diagram to show the marginal cost, the individual MWTP curves, and the market
MWTP curve. Indicate the economically efficient outcome, and confirm that this involves
paving the full length of the track.

On a diagram with the length of paved road, x, shown on the horizontal axis and measures of
cost and benefit on the vertical axis, we show the marginal cost as the horizontal line, MC =
250. Similarly, we show Vishal’s MWTP as the flat line MWTP, = 125. William’s MWTPy, is a
downward sloping line segment, connecting (0, 250) on the vertical axis with (100, 125);
while the market MWTP, MWTP,, = MWTP, + MWTP,,. This will be a line, parallel to
William’s MWTP,, curve, but connecting (0, 375) with (100, 250). Given that MWTP,,(100) >
MC(100), the track will be built.

Suppose that the marginal cost of provision were to increase to £300/m. How would you
expect the efficient outcome to change?

With the increase in marginal cost, the standard first-order condition will apply, and the track
will run where MWTP,, > MC, or where 375 — 1.25x > 300, or where x < 60. The contractor
leaves 40m of track unpaved.

Suppose instead that Vishal’s circumstances change and he has to use the track more
often. Now MWTP,, = 250. If William knows this, how might his behaviour change?
William knows that MWTP, = MC. So he realizes that Vishal will be willing to pay for the
track to be paved. He may refuse to make any contribution, and still be able to use it.

Given the problem in Expression 23.5:

Form the Lagrangean, and by partial differentiation with respect to R, Sy, and Sy, obtain the
first-order conditions (FOCs), which must be satisfied in a Pareto-efficient outcome. [Hint:
Note that there will be two Lagrangean multipliers.]

We write the Lagrangean A(R, Sy, Sw, 4, 1) = Uy(R, Sy) + A{Uw(R, Sw) - U] + pfm —pR - S, —
Sw)-

We obtain five first-order conditions, by partial differentiation with respect to each of the
variables:

YA yp=0; A=y, 24 W Uy (R, Su) - Up = 0;

oR 7 s, —as, Y asy, Sy

andm—-pR-S,—Sy,=0.

By expressing the multipliers in terms of the partial derivatives, confirm that for any
Pareto-efficient allocation, (R*, S,*, Su*):

u, /oy
% + %W =p [23.6]
=/ s

au,
. au, U, . ,
Given that —-+A—z-=up ; we can substitute for y, since = ng . Then /1=75UW= %

v
35y 35,

,; and on substituting for A and 1, and rearranging, the required result follows.
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Given quasi-linear preferences, as in Expression 23.7:

Write down expressions for the marginal utilities and the marginal rate of substitution for
both Vishal and William.

From Expression [23.7], partially differentiating U,, we obtain marginal utilities

N
ouy ouy

MUgy = =, and MUsy = == = 1. Similarly, partially differentiating Uy, we obtain marginal
utilities MUgy, = %’—;V and MUsy = 62—? =1

The marginal rates of substitution are then (minus one times) the ratio of marginal utilities,

ouy, Ouy,
- ou — ou
so that MRS, = — R/, =——. In the same way, MRSy, = — R/, =—=¢.
as, S,

Confirm that the marginal rate of substitution depends only on the level of provision of the
public good.

Since the marginal utility of the private good is constant, the level of its consumption does
not enter into the marginal rate of substitution.

Suppose that there is only Vishal’s house at the end of the track, and that his utility
function, Uy, = R®>. We now write his problem, :ZX R” +S, :pR+S,=m, .
v

Confirm that the marginal rate of substitution, MRS, = —Rf% . Hence sketch the

indifference curves U, = 1, 2 and 3. Confirm that when R =1, MRS = -1 on all three
indifference curves.

From X23.10, we see that MRS, = _aa%, . Applying the formula to the expression for Vishal’s
utility, the result follows.

On a diagram with consumption of the public good on the horizontal axis and consumption of
the private good on the vertical axis, the indifference curve, R“+ S, =1; or Sy = 1 — R, begins
from the vertical axis at (0, 1), where the curve is vertical. It is downward sloping and

convex, and meets the horizontal axis at (1, 0), where it has gradient -1. The indifference
curve R“+S,=2; orS,=2—R" begins from the vertical axis at (0, 2), where the curve is

1
vertical. It is downward sloping and convex, and meets the horizontal axis at (2",0). Lastly,
the indifference curve,
R%+S,=3; 0rSy=3—R" begins from the vertical axis at (0, 3), where the curve is vertical. It

1
is downward sloping and convex, and meets the horizontal axis at (3" ,0).

Show that if p = o = 0.5, and if my, > 0.5, Vishal’s most-preferred, affordable consumption
bundle, (R*, $*) = (1, m,— 0.5). On your diagram, sketch Vishal’s income expansion path.

We write Vishal’s problem as ::X R%? +S, :0.5R+S,=m, . Then the condition
e

MRS, = ——%= =% is satisfied when R = 1. The income expansion path begins from the origin,
2R

runs along the horizontal axis, until R = 1, and is then the segment of that vertical line above
the axis.

We return to the situation where Vishal and William share the access road, writing
William’s utility function, Uy, = R* + Sy.

On a diagram, sketch both Vishal’s and William’s marginal rate of substitution as the value
of R increases.
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We know that the marginal rates of substitution MRS, = MRSy, = — RfL_a . The marginal rate of

substitution increases as R increases; for R — 0, MRS — -oc; while as R — oo, MRS — 0

Confirm that both for Vishal and for William, the marginal rate of substitution does not
vary with the house sizes, S, and Sy,.
We have already confirmed this.

Apply and interpret the condition in Expression 23.6 in this case.

Since the marginal utility of consumption of the private goods is constant (and scaled to 1),
ou, ouy _ 2a
R TR T R

we obtain p = The price of supply for the public good is set so that it is the

sum of consumers’ marginal utilities.

Anya, Brinda and Claudia want to find the socially preferred outcome.

Suppose that they each have one vote, which they may cast for their own most-preferred
outcome. What will happen?

Each votes for their most-preferred outcome, and there is a tie.

Suppose that they agree to engage in successive comparisons of pairs of outcomes. Show
(i) that if x is compared with y, and then the more-preferred outcome is compared with z,
they will choose z; but (ii) that if y is compared with z, and then the more-preferred
outcome is compared with x, then x will be preferred.

In case (i), comparing x and y, x obtains 2 votes, while y obtains 1 vote. Then comparing z
and x, z obtains 2 votes and x obtains 1. So z is chosen.

In case (ii), comparing y and z, y obtains 2 votes, while z obtains 1 vote. Then comparing x
and y, x obtains 2 votes and y obtains 1. So x is chosen.

Show that it is possible using successive pairwise comparisons for y to be most preferred.
Suppose we first compare x and z. Then z obtains 2 votes, and x obtains 1 vote. We compare
y and z; and y obtains 2 votes, while z obtains 1. So y is chosen.

Claudia decides that this situation is too complicated and leaves. Anya and Brinda now try
again, with each assigning three points to their most-preferred, two to their second-
ranked, and one to their least-preferred, outcomes.

Confirm that on this basis they will choose outcomey.

Anya scores the outcomes: x =3, y =2, z = 1, while Brinda ranks themy=3,z=2,and x = 1.
Adding together the scores, we obtainy =5, x =4 and z = 3, so they choose .

Suppose instead that, before evaluating their preferences, they agree that since neither of
them ranks outcome z highest, they should exclude it. How would this affect their choice?
Anya scores the outcomes: x =2, y = 1, z = 0, while Brinda ranks themy =2, x=1, and z = 0.
Adding together the scores, we obtain x =y = 3, so that they are undecided.

Suppose that vy = 1,000. Confirm that Xavier is still pivotal, and that the social planner will
still require him to make a transfer, ky = 200.

We have v, = vy, = 500, so that subtracting their contributions, each obtains a surplus of -100.
The planner will only proceed with the project if vy > 800, so that Xavier obtains a surplus of
greater than 200. By requiring a transfer of 200, Xavier gives up an amount equal to the loss
that the others suffer.
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Consider a case in which we have a public good for which total cost, C = 5,000, and with
five possible participants, i = 1, ..., 5, benefiting from provision, with values v, = 1,500, v, =
1,200, v; = 1,000, v, = 700, and v; still to be declared. The social planner announces that
the project requires initial contributions, ¢; = 1,000. Show that:

For 300 <v; < 600, completion is inefficient; and participants 4 and 5 are pivotal, and so
should transfer k, + ks = 700.

Completion is inefficient. The loss to participants 1 and 2 is still 700, and so the planner seeks
transfers totalling that amount from participants 4 and 5, who form a blocking coalition.

For 600 <v;s < 800, completion is efficient: and participant 1 is pivotal, and so should
transfer k; = 1,300 — vs.

For 600 <vs < 800, the project goes ahead. However, no subset of participants that excludes
participant 1 has a positive total surplus. Participant 1 is therefore pivotal, and pays transfer
equal to the loss experienced by participants 4 and 5, of 1,300 — vs.

For 800 <v; < 1,000, completion is efficient; and participants 1 and 2 are pivotal, and so
should transfer k; + k> = 1,300 — vs.

This is essentially the same argument as in b), but now participants 1 and 2 together ensure
that the project goes ahead, and the planner requires them to make a transfer equal to the
total loss suffered by participants 4 and 5.

For vs; < 300, the social planner will decide that completion of the project is inefficient;
participant 5 is pivotal, and so should make a transfer ks = 700; and no participant is then
worse off than if the project had gone ahead.

The total cost C = 5000, so the planner requires ZV; >5,000, or that Zsi >0. We note that

$: =500, s, =200, s; =0, s, =-300; and ss = vs— 1000. Then ZS,» =v;—600. So the projectis

inefficient when vs < 600; but efficient when vs > 600.
Now if vs < 300, then only participant 5’s low valuation prevents the project going ahead and
the participant compensates those who lose out from cancellation.

Suppose that a village is surrounded by common land of 1,500 hectares. The farmers in
the village use the common to graze cattle, achieving an output per hectare, C:

y,y<0.5
C={-0.5+3y—-2y?,0.5<y<1
0,otherwise
where y is the stocking density (cattle per hectare). All cattle may be sold for price p =
1,200, and we assume that the marginal cost of production, c = 600y.

Show that the output per hectare, C is maximized at y* = 0.75. Sketch a graph of the
output per hectare. (NotethatC=0ify=0,orify>1.)

1,y<0.5
Differentiating the output per hectare, dc _ 3-4y,05<y<1. The first-order condition for a
d 0,otherwise
maximum, that the derivative, Z—}C, =0, is satisfied either when y = 0.75 or when y > 1;

however, we note that wheny > 1, C = 0, whereas when y =0.75, C=0.625. (And we can also
check that the second-order condition, %<0 .)

In a diagram with the stocking density, y, measured on the horizontal axis, and the output per
hectare, C, on the vertical axis, the graph of the stocking density has three elements. In the
interval 0 <y <0.5, the function is linear. The graph is a line segment with gradient 1,
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starting at the origin and extending to (0.5, 0.5). The second section is a segment of a
parabola, passing through (0.5, 0.5), (0.75, 0.625) and (1, 0.5), with gradient 1 wheny = 0.5
(so that the parabola has tangent C =y at (0.5, 0.5), and the curve is a smooth extension of
the line segment); reaching a maximum at y = 0.75, and with gradient -1 wheny =1. Fory >
1 the graph runs along the horizontal axis; C = 0. Note that there is a discontinuity between
the second and the third segments.

If there is no management of the commons, farmers will continue to increase the number
of cattle so long as the revenue that they obtain from selling the cattle exceeds the
marginal cost. On your diagram, indicate what happens.

At stocking density, y, profit per hectare I1= (1,200 — 600)C(y). But then differentiating

profit, with respect to the stocking density, we see that %—1;1 =600 %—S, and profit reaches a

maximum at y* = 0.75. Although the total profit falls for higher levels of stocking density,
production remains profitable until y = 1, at which point the grazing collapses.
In the diagram, we can relabel the vertical axis as profit.

If the commons are enclosed, so that a monopolist (a local landlord) is able to manage the
land to maximize profits, the stocking density will be chosen to maximize profit. Show that
this requires the landlord to maximize the stocking density.

The maximum output per hectare is reached with stocking density y* = 0.75.



